VSA-S19114xxxAM5TxU7-SOT235-J000-Rev.1.0 1/2

EFEMESERIER

HEZ - S-19114xxxA-M5TxU7

BE /v — : SOT-23-5

No. EYiES AEREH k% 9 rin R e R
1 | =iREME Ta=125 °C, V = Vopr max. 2000 h 0/22 |HERKEHET DL
2 |BEEEAITR M Ta=85 °C, RH=85% 2000h | 022 |BRIEKEBRT S &
V = Vopr max.
= ° = % P=2. 5 : -
3 |TLyswsunanqpz |13 130 °CRH=85% P=2.3<10"Pa 96h | 022 |RREEERRTHCL
V = Vopr max.
4 |EERRF Ta=150 °C 2000 h 0/22 BRI ERET S L
5 KRR Ta=-65 °C 2000 h 0/22 |BmREER/RET S &
6 [BEY/CIIL (5H) Y Ta=150°C & —65°C, £ 15% 1000 cycles | 0/22 |HGRBEHRET S &
. ‘ HRRRERRT DL
7 | IFAEEEME () T0—) "2 T=260 °C, 10s 3MH 022 |pigat mmsmpxc s
T=380°C, 55 (IFAFaATEEE) HEBRKRERRTHIL
- T | S 2 ’ R
8 |[FAFETEE 2 (AT 5% U — F8 2 [ 0/22 SEEL. B L
R AWK ERRTHL
9 |IFAEmERE 3(7O—)* T=260 °C, 10s 1 [A] 0/22 ML, BEALEC L
TRV ARE A LA 3FHLUA
T=245°C ThHdi &
S 4t (i #3 .
10 |BATH T (%A F# : Sn-3.0Ag-0.5Cu °s | Ml xmizimams o 95%kL LS
FHTEONhAHI L
4 RAAY A XH 40 KT
11 |mg RH 1 (RREE) Ta=30 °C, RH=60% 4000h 06 | cmz & A
12 |4 RN 2CREHAII) Ta=85°C & -40°C 1500 cycles | 0/6 Z;};?Z'fzb\ 45um BT
s AHBH A XA 40 UTF
13 |94 X7 3 (EBEEERT) Ta=55 °C, RH=85 % 4000h 0/6 Z;;é -k gm
14 FATEEESEEN Ta=125°C & -40°C 2000 oveles | 0/22 YVHISREIED 50% LU LD
(HAMEBE) (£ A 7541 : Sn-3.0Ag-0.5Cu y BEEMETHCE
15 [ — KBl 23R Y @E 5|38 : 2.5N 30s 011 |U—FABRELEWN &
16 | ) — REhIF3RE 21385 . 1.25N 45 EiR Y ehif 2 [a] 0/11 |V—FABELEWN &
V=42000 V, C=100 pF, R=1.5 kQ . _
17 EME 1(HBM 5[] 05 |HEREEFHRTHIL
REME 1(HBM) Voo B H, Ves i i
18 | 8 EME 2(CDM) V=t500V HE, EHRE 1 [a] 0/5 |HEREEFHRTHIL
SYFT v TEE
1 T = . 1 Y . g AV
9 COLRBIEAL) +100 mA, V = Vopr max ] 05 |ZYvFT7vITLE &
SYFT v TERE2 R . - -
= . E B3 > > s A
20 EEBEL L) V = Vopr max.h 5 EEDNBEE 1@ 05 |SYFF7yvTLEWNIE

i) Vopr max. = RXENMEEE

#1,2,3 : BIMEEEER., 2 —XIZHBREEET %

T4 7Yy HRed




VSA-S19114xxxAM5TxU7-SOT235-J000-Rev.1.0 2/2

B AL I (#1)
BRRE 0% ;2 AL 3R 2o |
. Ta=85 °C yoo—3E
Tat;;i‘r’h C RH=85 % T=260 °C
t=168 h =10's
B B (#2)
SaRE iR I8 EAnIE
) Ta=85 °C
Tat':;iSh C RH=85% —
t=168 h
3O B (#3)
BRRE 0% ;2 AL 3R AR
Ta=105 °C
- RH=100% —
t=8 h

T4 7Yy HRed




